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QUESTION NO: 1

The customer decided to remove the Caveonix RiskForesight all-in-one service from the IBM Cloud and move to a 
distributed model for VMware Solutions. By default, IBM automatically deletes only the single deployed all-in-one Caveonix 
VM and the dedicated private subnet that was ordered for it.What are the key considerations? (Select Two)

A. If you used the IP addresses of the dedicated private subnet on additional VMs, those VMs must be ^ assigned new IP 
addresses to continue to function

B. Old configurations can be deleted and migrated to a new environment

C. If you scaled out the Caveonix VM into multiple VMs, those additional VMs are not removed

D. Delete the VM and Storage allocation, Cavenoix RiskForesight will discontinue data gathering and services are deemed 
stopped

E. Unsubscribe the license and remove the instance of all-in-one deployment in the VMware solutions, release the IP 
address to DHCP, DNS servers

ANSWER: A C 

QUESTION NO: 2

Which two of the following can be managed by IBM Cloud SSL Certificates? (Choose two.)

Certificate Service Requests (CSR)

A. SSL certificates not imported into IBM Cloud

B. SSL certificates imported into IBM Cloud

C. Self-signed SSL certificates

D. SSL certificates ordered in IBM Cloud

ANSWER: A C 

QUESTION NO: 3

Which of the following two databases are integrated with IBM Cloud Hyper Protect Crypto Services?

A. MS-SQL

B. Cassandra DB

C. MySQL

D. MongoDB
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E. PostgreSQL

ANSWER: D E 

QUESTION NO: 4

Which statement describes a key-value database?

A. Each item in the database is encrypted with public-key cryptography

B. Each item in the database is a document with lists of key-value pairs

C. Each item in the database is stored in a column named key with values in each row

D. Each item in the database is stored as an attribute name (referred to as a key) with its corresponding value

ANSWER: D 

QUESTION NO: 5

On IBM Cloud, what are the two types of pipelines and how are they specified?

A. Tekton pipelines are specified in YAM

B. Legacy pipelines are specified with CSV files. NextGen pipelines are specified in JSON

C. Complex pipelines are specified in JSO

D. Classic pipelines are specified graphically. Tekton pipelines are specified in YAM

E. Simple pipelines are specified with XM

F. Codewind pipelines are specified in XMI

ANSWER: C D 

QUESTION NO: 6

A Dialog Skill in Watson Assistant can make a web service call via which of the following?

A. Webhook

B. Web service definition language

C. A Dialog Skill in Watson Assistant can make a web service call via which of the following?

D. SOAP Endpoint
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ANSWER: A 

QUESTION NO: 7

What resource is available in IBM Cloud to help the users quickly create IoT applications based on patterns?

A. jdk

B. Starter Kit

C. Istio

D. Watson API

ANSWER: A 

QUESTION NO: 8

A Dialog Skill in Watson Assistant can make a web service call via which of the following?

A. SOAP Endpoint

B. Message queue

C. Webhook

D. Web service definition language

ANSWER: C 

QUESTION NO: 9

IBM Log Analysis with LogDNA can be used to manage which of the following?

A. Cloud native applications logs on any Cloud

B. System and application logs in the IBM Cloud

C. Only application logs in the IBM Cloud

D. Service Mesh in IBM Cloud

ANSWER: B 

QUESTION NO: 10
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Which are two benefits of IBM Cloud Functions? (Choose two.)

A. Scale up or down automatically

B. Visual debugging

C. Based on Kubernetes

D. Focus on code, not infrastructure

E. Out-of-the-box connectors to several databases

ANSWER: A D 
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